## Garland Independent School District

GISD Sourcing Bid Tab Report

 Bid#:
 31472
 Title:
 101-02-15 Print Shop Paper

 Quote#
 Vendor / Supplier
 EPCNT
 Discount

 460712
 CLAMPITT PAPER CO
 no
 5%

 459685
 WESTERN PAPER COMPANY
 Yes
 10% off

 OLMSTED-KIRK PAPER COMPANY
 Yes,
 15% off

 Garland
 list price

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
1	Parchment text, 8 ½ x 11, various colors	Y		cs	OLMSTED-KIRK PAPER COMPANY	2	\$69.72	\$139.44
				cs	CLAMPITT PAPER CO	2	\$99.00	\$198.00
				cs	WESTERN PAPER COMPANY	2	\$145.00	\$290.00
2	Velum Bristol, 8 ½ x 11, white	Y		cs	OLMSTED-KIRK PAPER COMPANY	24	\$30.90	\$741.60
				cs	WESTERN PAPER COMPANY	24	\$32.00	\$768.00
				cs	CLAMPITT PAPER CO	24	\$32.18	\$772.32
3	Velum Bristol, 8 ½ x 11, various colors	Y		cs	OLMSTED-KIRK PAPER COMPANY	13	\$32.76	\$425.88
				cs	WESTERN PAPER COMPANY	13	\$33.76	\$438.88
				cs	CLAMPITT PAPER CO	13	\$34.00	\$442.00
4	Velum Bristol, 11 x 17, white	Y		cs	OLMSTED-KIRK PAPER COMPANY	45	\$32.75	\$1,473.75
				cs	WESTERN PAPER COMPANY	45	\$33.65	\$1,514.25
				cs	CLAMPITT PAPER CO	45	\$34.00	\$1,530.00
5	Velum Bristol, 11 x 17, various colors	Y		CS	OLMSTED-KIRK PAPER COMPANY	20	\$34.60	\$692.00
				cs	CLAMPITT PAPER CO	20	\$35.00	\$700.00
				cs	WESTERN PAPER COMPANY	20	\$35.50	\$710.00
6	Index, 9 x 11 (tab stock)	Y		cs	CLAMPITT PAPER CO	5	\$36.80	\$184.00
				cs	OLMSTED-KIRK PAPER COMPANY	5	\$46.70	\$233.50
				cs	WESTERN PAPER COMPANY	5	\$48.40	\$242.00
7	Bond, 11 x 17	Y		cs	WESTERN PAPER COMPANY	240	\$29.40	\$7,056.00

		Award						Extended
Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				cs	CLAMPITT PAPER CO	240	\$29.75	\$7,140.00
				cs	OLMSTED-KIRK PAPER COMPANY	240	\$29.85	\$7,164.00
8	Color Bond, 11 x 17, various colors	Y		cs	WESTERN PAPER COMPANY	40	\$39.50	\$1,580.00
		Y		cs	OLMSTED-KIRK PAPER COMPANY	40	\$39.50	\$1,580.00
				cs	CLAMPITT PAPER CO	40	\$43.75	\$1,750.00
9	Color Bond, 8 ½ x 11, various colors	Y		cs	WESTERN PAPER COMPANY	15	\$36.60	\$549.00
				cs	OLMSTED-KIRK PAPER COMPANY	15	\$37.50	\$562.50
				cs	CLAMPITT PAPER CO	15	\$41.75	\$626.25
10	Color Bond, 8 ½ x 14, various colors	Y		cs	WESTERN PAPER COMPANY	3	\$50.20	\$150.60
		Y		cs	OLMSTED-KIRK PAPER COMPANY	3	\$50.20	\$150.60
				cs	CLAMPITT PAPER CO	3	\$55.00	\$165.00
11	Astrobright or equivalent,8 ½ x 11, various colors	Y		CS	OLMSTED-KIRK PAPER COMPANY	10	\$62.00	\$620.00
				cs	WESTERN PAPER COMPANY	10	\$62.10	\$621.00
				cs	CLAMPITT PAPER CO	10	\$75.75	\$757.50
12	Astrobright or equivalent, 11 x 17, various colors	Y		BD	OLMSTED-KIRK PAPER COMPANY	20	\$61.88	\$1,237.60
				BD	WESTERN PAPER COMPANY	20	\$65.75	\$1,315.00
				BD	CLAMPITT PAPER CO	20	\$75.10	\$1,502.00
13	Astrobright or equivalent, 8 ½ x 11, various colors	Y		cs	OLMSTED-KIRK PAPER COMPANY	8	\$49.00	\$392.00
				cs	CLAMPITT PAPER CO	8	\$60.00	\$480.00
				cs	WESTERN PAPER COMPANY	8	\$62.70	\$501.60
14	Astrobright or equivalent, 11 x 17, various colors	Y		cs	OLMSTED-KIRK PAPER COMPANY	10	\$49.00	\$490.00
				cs	CLAMPITT PAPER CO	10	\$60.00	\$600.00
				cs	WESTERN PAPER COMPANY	10	\$65.63	\$656.30

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
15	Fluorescent or ultra-color crack-n-peel, 8 $\frac{1}{2}$ x 11, various colors	Y		cs	WESTERN PAPER COMPANY	2	\$147.00	\$294.00
				cs	CLAMPITT PAPER CO	2	\$149.00	\$298.00
				cs	OLMSTED-KIRK PAPER COMPANY	2	\$303.76	\$607.52
16	Accent Opaque, or equivalent, 8 ½ x 11, white	Y		cs	WESTERN PAPER COMPANY	16	\$42.20	\$675.20
				cs	CLAMPITT PAPER CO	16	\$44.80	\$716.80
				cs	OLMSTED-KIRK PAPER COMPANY	16	\$45.00	\$720.00
17	Accent Opaque, or equivalent, 11 x 17, white	Y		cs	WESTERN PAPER COMPANY	20	\$44.85	\$897.00
				cs	CLAMPITT PAPER CO	20	\$47.50	\$950.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$47.50	\$950.00
18	Bright White 81/2 x 11, linen cover	Y		cs	CLAMPITT PAPER CO	3	\$91.00	\$273.00
				cs	WESTERN PAPER COMPANY	3	\$97.50	\$292.50
				cs	OLMSTED-KIRK PAPER COMPANY	3	\$98.50	\$295.50
19	Bright White 11 x 17, linen text	Y		cs	CLAMPITT PAPER CO	34	\$67.75	\$2,303.50
				cs	WESTERN PAPER COMPANY	34	\$68.25	\$2,320.50
				cs	OLMSTED-KIRK PAPER COMPANY	34	\$69.27	\$2,355.18
20	2-part, 11 x 17	Y		cs	CLAMPITT PAPER CO	50	\$70.38	\$3,519.00
				cs	WESTERN PAPER COMPANY	50	\$72.35	\$3,617.50
				cs	OLMSTED-KIRK PAPER COMPANY	50	\$73.85	\$3,692.50
21	3-part, 11 x 17	Y		cs	CLAMPITT PAPER CO	12	\$79.35	\$952.20
				cs	WESTERN PAPER COMPANY	12	\$81.51	\$978.12
				cs	OLMSTED-KIRK PAPER COMPANY	12	\$83.23	\$998.76
22	6-part, 8 ½ x 11	Y		CS	CLAMPITT PAPER CO	9	\$90.00	\$810.00
				cs	WESTERN PAPER COMPANY	9	\$92.91	\$836.19

		Award						Extended
Line#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				cs	OLMSTED-KIRK PAPER COMPANY	9	\$94.80	\$853.20
23	5-part, 8 ½ x 11	Y		cs	CLAMPITT PAPER CO	11	\$87.10	\$958.10
								• • • • •
				cs	WESTERN PAPER COMPANY	11	\$90.26	\$992.86
				CS	OLMSTED-KIRK PAPER COMPANY	11	\$92.15	\$1,013.65
24	2-part, 8 ½ x 14	Y		CS	CLAMPITT PAPER CO	2	\$90.00	\$180.00
				cs	WESTERN PAPER COMPANY	2	\$92.22	\$184.44
				CS	OLMSTED-KIRK PAPER COMPANY	2	\$94.85	\$189.70
25	2-part, 8 ½ x 11	Y		cs	CLAMPITT PAPER CO	40	\$70.30	\$2,812.00
				cs	WESTERN PAPER COMPANY	40	\$72.45	\$2,898.00
				cs	OLMSTED-KIRK PAPER COMPANY	40	\$74.60	\$2,984.00
				00		40	\$74.00	¥2,504.00
26	3-part, 8 ½ x 11	Y		cs	CLAMPITT PAPER CO	60	\$79.40	\$4,764.00
				cs	WESTERN PAPER COMPANY	60	\$81.62	\$4,897.20
				cs	OLMSTED-KIRK PAPER COMPANY	60	\$83.90	\$5,034.00
07	4	Y		6	CLAMPITT PAPER CO	~	¢05.00	¢5 400 00
27	4-part, 8 ½ x 11			CS	CLAWIFITT PAPER CO	60	\$85.00	\$5,100.00
				cs	WESTERN PAPER COMPANY	60	\$87.19	\$5,231.40
				cs	OLMSTED-KIRK PAPER COMPANY	60	\$89.65	\$5,379.00
28	CB white, 8 ½ x 11	Y		cs	CLAMPITT PAPER CO	13	\$79.15	\$1,028.95
				CS	WESTERN PAPER COMPANY	13	\$80.83	\$1,050.79
				cs	OLMSTED-KIRK PAPER COMPANY	13	\$88.55	\$1,151.15
29	CFB canary, 8 ½ x 11	Y		cs	CLAMPITT PAPER CO	13	\$96.90	\$1,259.70
						12	¢00.00	¢4 007 70
				65	WESTERN PAPER COMPANY	13	\$99.06	\$1,287.78
				CS	OLMSTED-KIRK PAPER COMPANY	13	\$108.70	\$1,413.10
30	CFB pink, 8 ½ x 11	Y		cs	CLAMPITT PAPER CO	13	\$96.90	\$1,259.70

		Award						Extended
Line#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				cs	WESTERN PAPER COMPANY	13	\$99.06	\$1,287.78
				CS	OLMSTED-KIRK PAPER COMPANY	13	\$108.70	\$1,413.10
31	CF goldenrod, 8 ½ x 11	Y		cs	CLAMPITT PAPER CO	13	\$57.75	\$750.75
				CS	WESTERN PAPER COMPANY	13	\$63.76	\$828.88
				cs	OLMSTED-KIRK PAPER COMPANY	13	\$64.80	\$842.40
32	Business card boxes, 500 card quantity	Y		cs	OLMSTED-KIRK PAPER COMPANY	1	\$45.00	\$45.00
				cs	CLAMPITT PAPER CO	1	\$104.00	\$104.00
				CS	WESTERN PAPER COMPANY	1	\$115.00	\$115.00
33	Letter Head boxes, 500 sheet quantity	Y		cs	CLAMPITT PAPER CO	3	\$38.00	\$114.00
		Y		cs	WESTERN PAPER COMPANY	3	\$38.00	\$114.00
				cs	OLMSTED-KIRK PAPER COMPANY	3	\$42.00	\$126.00
34	5 1/ 'Bar White Banal Cardo		1NOL		WESTERN PAPER COMPANY	6	\$8.50	\$51.00
34	5 ½ Bar, White Panel Cards		INOL	63	WESTERN PAPER COMPANY	0	\$6.50	\$51.00
		Y		CS	CLAMPITT PAPER CO	6	\$82.50	\$495.00
				cs	OLMSTED-KIRK PAPER COMPANY	6	\$90.00	\$540.00
35	5 ½'Bar White Envelopes		1NOL	вх	OLMSTED-KIRK PAPER COMPANY	6	\$8.14	\$48.84
			1NOL	вх	WESTERN PAPER COMPANY	6	\$8.55	\$51.30
		V		BY			<b>\$70.75</b>	¢ 440 50
		Y		BX	CLAMPITT PAPER CO	6	\$73.75	\$442.50
36	#6 Bar, White Panel Invitation Folders	Y		вх	WESTERN PAPER COMPANY	12	\$10.50	\$126.00
				вх	OLMSTED-KIRK PAPER COMPANY	12	\$11.30	\$135.60
				вх	CLAMPITT PAPER CO	12	\$140.63	\$1,687.56
37	#6 Bar White Envelopes	Y		ΒХ	WESTERN PAPER COMPANY	14	\$8.60	\$120.40
				вх	OLMSTED-KIRK PAPER COMPANY	14	\$9.39	\$131.46
				вх	CLAMPITT PAPER CO	14	\$85.38	\$1,195.32

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
38	#6 Bar, Ivory Panel Invitation Folders	Y		вх	WESTERN PAPER COMPANY	6	\$10.95	\$65.70
				вх	OLMSTED-KIRK PAPER COMPANY	6	\$12.00	\$72.00
				вх	CLAMPITT PAPER CO	6	\$132.75	\$796.50
39	#6 Bar Ivory Envelopes	Y		вх	WESTERN PAPER COMPANY	6	\$9.10	\$54.60
				вх	OLMSTED-KIRK PAPER COMPANY	6	\$9.92	\$59.52
				вх	CLAMPITT PAPER CO	6	\$92.88	\$557.28
40	#6 Bar White Panel Folder Cards 3	Y		вх	WESTERN PAPER COMPANY	6	\$11.00	\$66.00
				вх	OLMSTED-KIRK PAPER COMPANY	6	\$12.72	\$76.32
				вх	CLAMPITT PAPER CO	6	\$134.08	\$804.48
41	Astrobright, end flap, 9 x 12, yellow	Y		вх	CLAMPITT PAPER CO	4	\$130.20	\$520.80
				вх	OLMSTED-KIRK PAPER COMPANY	4	\$248.10	\$992.40
42	Astrobright, end flap,9 x 12, green	Y		вх	CLAMPITT PAPER CO	4	\$130.20	\$520.80
				вх	OLMSTED-KIRK PAPER COMPANY	4	\$248.10	\$992.40
43	#9 regular envelope	Y		cs	WESTERN PAPER COMPANY	20	\$39.80	\$796.00
				cs	CLAMPITT PAPER CO	20	\$41.50	\$830.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$44.75	\$895.00
44	#10 window envelope	Y		cs	WESTERN PAPER COMPANY	28	\$45.70	\$1,279.60
				cs	CLAMPITT PAPER CO	28	\$47.50	\$1,330.00
45	#10 regular envelope	Y		cs	WESTERN PAPER COMPANY	28	\$39.80	\$1,114.40
				cs	CLAMPITT PAPER CO	28	\$40.00	\$1,120.00
				cs	OLMSTED-KIRK PAPER COMPANY	28	\$51.63	\$1,445.64
46	#11 window envelope	Y		cs	WESTERN PAPER COMPANY	24	\$84.80	\$2,035.20
				cs	CLAMPITT PAPER CO	24	\$87.88	\$2,109.12

Line#	Item Description	Award (Y / N)	Reason	υом	Supplier	Qty	Price	Extended Price
				CS	OLMSTED-KIRK PAPER COMPANY	24	\$95.50	\$2,292.00
47	#9 security window envelope	Y		cs	CLAMPITT PAPER CO	12	\$53.75	\$645.00
				cs	WESTERN PAPER COMPANY	12	\$54.85	\$658.20
				cs	OLMSTED-KIRK PAPER COMPANY	12	\$60.65	\$727.80
48	Catalog envelope, 6 x 9, Brown Kraft	Y		ВΧ	CLAMPITT PAPER CO	60	\$16.65	\$999.00
				вх	WESTERN PAPER COMPANY	60	\$18.00	\$1,080.00
							<i><i><i></i></i></i>	\$1,000.00
				вх	OLMSTED-KIRK PAPER COMPANY	60	\$18.95	\$1,137.00
49	Catalog envelope, 6 x 9, White	Y		BD	WESTERN PAPER COMPANY	6	\$15.00	\$90.00
40							ψ15.00	430.00
				BD	CLAMPITT PAPER CO	6	\$15.75	\$94.50
								•
				BD	OLMSTED-KIRK PAPER COMPANY	6	\$16.60	\$99.60
50	Clasp Envelope, 6 x 9, Green	Y		cs	WESTERN PAPER COMPANY	40	\$110.00	\$4,400.00
51	Clasp Envelope, 6 x 9, Yellow	Y		CS	WESTERN PAPER COMPANY	40	\$110.00	\$4,400.00
52	Clasp Envelope, 6 x 9, Blue	Y		cs	WESTERN PAPER COMPANY	40	\$110.00	\$4,400.00
53	Clasp Envelope, 6 x 9, Cream	Y		CS	WESTERN PAPER COMPANY	40	\$110.00	\$4,400.00
54	Catalog envelopes, 10 x 13, White	Y		вх	CLAMPITT PAPER CO	30	\$28.45	\$853.50
				вх	WESTERN PAPER COMPANY	30	\$28.85	\$865.50
				BV		20	\$24.60	¢0.40.00
				BX	OLMSTED-KIRK PAPER COMPANY	30	\$31.60	\$948.00
55	#9 Window Envelope, White	Y		cs	CLAMPITT PAPER CO	4	\$42.13	\$168.52
				CS	WESTERN PAPER COMPANY	4	\$46.00	\$184.00
				cs	OLMSTED-KIRK PAPER COMPANY	4	\$51.63	\$206.52
56	Catalog Envelope, 10 x 13, Brown Kraft	Y		CS	CLAMPITT PAPER CO	12	\$36.38	\$436.56
				cs	WESTERN PAPER COMPANY	12	\$36.75	\$441.00
				cs	OLMSTED-KIRK PAPER COMPANY	12	\$40.25	\$483.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
57	Tyvek Envelope, 9 x 12	Y		cs	WESTERN PAPER COMPANY	4	\$103.00	\$412.00
				cs	OLMSTED-KIRK PAPER COMPANY	4	\$111.25	\$445.00
				cs	CLAMPITT PAPER CO	4	\$120.25	\$481.00
58	Tyvek Catalog Envelope, 10 x 13	Y		cs	WESTERN PAPER COMPANY	4	\$126.00	\$504.00
				cs	OLMSTED-KIRK PAPER COMPANY	4	\$126.90	\$507.60
				cs	CLAMPITT PAPER CO	4	\$152.50	\$610.00
59	Catalog Envelope, 9 x 12, Green	Y		cs	OLMSTED-KIRK PAPER COMPANY	10	\$66.16	\$661.60
60	Catalog Envelope, 9 x 12, Astrobrights Various Colors	Y		CS	CLAMPITT PAPER CO	10	\$130.20	\$1,302.00
				cs	OLMSTED-KIRK PAPER COMPANY	10	\$248.10	\$2,481.00
61	#10 Envelopes, Astrobrights	Y		CS	CLAMPITT PAPER CO	2	\$98.75	\$197.50
				cs	OLMSTED-KIRK PAPER COMPANY	2	\$112.65	\$225.30
62	Catalog Envelope, 9 x 12, Manilla	Y		cs	WESTERN PAPER COMPANY	12	\$48.50	\$582.00
				cs	CLAMPITT PAPER CO	12	\$51.75	\$621.00
				cs	OLMSTED-KIRK PAPER COMPANY	12	\$53.05	\$636.60
63	A-2 Envelope, 4 3/8 x 5 3/4, Accent Opaque, White, Smooth	Y		cs	WESTERN PAPER COMPANY	10	\$26.00	\$260.00
				cs	OLMSTED-KIRK PAPER COMPANY	10	\$28.40	\$284.00
				cs	CLAMPITT PAPER CO	10	\$33.62	\$336.20
64	A-7 Envelope, 5 1/4 x 7 1/4, Accent Opaque, White, Smooth	Y		cs	WESTERN PAPER COMPANY	10	\$36.00	\$360.00
				cs	CLAMPITT PAPER CO	10	\$36.90	\$369.00
				cs	OLMSTED-KIRK PAPER COMPANY	10	\$39.15	\$391.50
	A-7 Envelope, 3 1/2 x 6 1/2, Coin Envelope w/out Clasp, Manilla	Y		cs	WESTERN PAPER COMPANY	10	\$90.00	\$900.00
				cs	CLAMPITT PAPER CO	10	\$214.50	\$2,145.00
66	A-8 Envelopes, 60lb, Various Colors	Y		cs	OLMSTED-KIRK PAPER COMPANY	10	\$41.70	\$417.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
67	A-9 Envelopes, 60lb, Various Colors	Y		cs	OLMSTED-KIRK PAPER COMPANY	10	\$51.10	\$511.00
68	Linen Text, 23 x 35, Carnival White	Y		cs	CLAMPITT PAPER CO	20	\$238.14	\$4,762.80
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$274.75	\$5,495.00
69	Carnival, 23" X 35", Smooth Cover	Y		cs	OLMSTED-KIRK PAPER COMPANY	10	\$252.79	\$2,527.90
70	Carnival, 23" X 35", Smooth Cover	Y		cs	CLAMPITT PAPER CO	10	\$279.00	\$2,790.00
				cs	WESTERN PAPER COMPANY	10	\$324.00	\$3,240.00
71	Linen Text, 11 x 17, White	Y		cs	CLAMPITT PAPER CO	40	\$67.50	\$2,700.00
				cs	WESTERN PAPER COMPANY	40	\$73.50	\$2,940.00
				cs	OLMSTED-KIRK PAPER COMPANY	40	\$73.59	\$2,943.60
72	White, offset, 17 x 22	Y		SD	WESTERN PAPER COMPANY	20	\$615.00	\$12,300.00
				SD	CLAMPITT PAPER CO	20	\$677.16	\$13,543.20
73	White, offset, 17 x 22	Y		SD	WESTERN PAPER COMPANY	20	\$577.00	\$11,540.00
				SD	CLAMPITT PAPER CO	20	\$646.80	\$12,936.00
74	White, offset, 17 $\frac{1}{2}$ x 22 $\frac{1}{2}$	Y		SD	OLMSTED-KIRK PAPER COMPANY	30	\$563.80	\$16,914.00
				SD	WESTERN PAPER COMPANY	30	\$600.00	\$18,000.00
				SD	CLAMPITT PAPER CO	30	\$694.25	\$20,827.50
75	White, offset, 17 x 22	Y		CS	WESTERN PAPER COMPANY	75	\$600.00	\$45,000.00
				cs	CLAMPITT PAPER CO	75	\$677.50	\$50,812.50
76	Howard Linen Moonstone Blue Cover, 8 $\frac{1}{2}$ x 11	Y		cs	CLAMPITT PAPER CO	20	\$100.00	\$2,000.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$134.80	\$2,696.00
77	Howard Linen Moonstone Blue text, 8 ½ x 11	Y		CS	CLAMPITT PAPER CO	8	\$117.50	\$940.00
				cs	OLMSTED-KIRK PAPER COMPANY	8	\$136.05	\$1,088.40
78	5½'Bar, Gray Linen, Envelopes, Howard Linen Moonstone Blue	Y		cs	CLAMPITT PAPER CO	2	\$330.00	\$660.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
79	#10 envelope, Howard Linen Moonstone Blue	Y		cs	CLAMPITT PAPER CO	16	\$132.50	\$2,120.00
				cs	OLMSTED-KIRK PAPER COMPANY	16	\$158.00	\$2,528.00
80	Domtar-Cougar 98 Brightness, 8 ½ x 11, Cover	Y		CS	CLAMPITT PAPER CO	20	\$48.80	\$976.00
				cs	WESTERN PAPER COMPANY	20	\$60.25	\$1,205.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$62.65	\$1,253.00
81	Domtar-Cougar 98 Brightness, 8 ½ x 11, Text	Y		cs	CLAMPITT PAPER CO	10	\$42.00	\$420.00
				cs	WESTERN PAPER COMPANY	10	\$56.50	\$565.00
				cs	OLMSTED-KIRK PAPER COMPANY	10	\$58.68	\$586.80
82	Domtar-Cougar 98 Brightness, 8 ½ x 11, Cover	Y		cs	CLAMPITT PAPER CO	25	\$48.00	\$1,200.00
				cs	WESTERN PAPER COMPANY	25	\$61.00	\$1,525.00
				cs	OLMSTED-KIRK PAPER COMPANY	25	\$62.64	\$1,566.00
83	#9 Envelope, Domtar-Cougar 98 Brightness	Y		cs	WESTERN PAPER COMPANY	16	\$71.00	\$1,136.00
				cs	OLMSTED-KIRK PAPER COMPANY	16	\$77.25	\$1,236.00
84	#10 Envelope, Domtar-Cougar 98 Brightness	Y		cs	WESTERN PAPER COMPANY	16	\$73.50	\$1,176.00
				cs	CLAMPITT PAPER CO	16	\$75.00	\$1,200.00
				cs	OLMSTED-KIRK PAPER COMPANY	16	\$77.88	\$1,246.08
85	#10 Window Envelope, Domtar-Cougar 98 Brightness	Y		cs	WESTERN PAPER COMPANY	16	\$81.00	\$1,296.00
				cs	OLMSTED-KIRK PAPER COMPANY	16	\$86.25	\$1,380.00
86	94 Bright Digital Gloss Cover,12 x 18	Y		cs	CLAMPITT PAPER CO	27	\$11.13	\$300.51
				cs	OLMSTED-KIRK PAPER COMPANY	27	\$25.58	\$690.66
				cs	WESTERN PAPER COMPANY	27	\$36.45	\$984.15
87	94 Bright White Digital Gloss Cover, 100lb, 12" x 18"	Y		cs	CLAMPITT PAPER CO	27	\$13.07	\$352.89
				cs	OLMSTED-KIRK PAPER COMPANY	27	\$32.18	\$868.86

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
		(,			WESTERN PAPER COMPANY	27	\$36.87	\$995.49
88	Digital Gloss Cover, 11 x 17	Y		cs	OLMSTED-KIRK PAPER COMPANY	20	\$22.48	\$449.60
					CLAMPITT PAPER CO	20	\$33.75	\$675.00
					WESTERN PAPER COMPANY	20	\$42.94	\$858.80
89	Digital Gloss Text, 8 ½ x 11	Y			WESTERN PAPER COMPANY	20	\$35.00	\$840.00
05								
00		Y				24	\$58.00	\$1,392.00
90	Gloss Text, 11 x 17				OLMSTED-KIRK PAPER COMPANY	100	\$28.80	\$2,880.00
					CLAMPITT PAPER CO	100	\$34.50	\$3,450.00
					WESTERN PAPER COMPANY	100	\$43.80	\$4,380.00
91	Gloss Cover, 8 ½ x 11	Y		CS	WESTERN PAPER COMPANY	80	\$31.60	\$2,528.00
					CLAMPITT PAPER CO	80	\$54.00	\$4,320.00
92	Digital Gloss Cover, 14.33 x 20.5	Y		CS	CLAMPITT PAPER CO	170	\$14.13	\$2,402.10
				CS	WESTERN PAPER COMPANY	170	\$42.25	\$7,182.50
				CS	OLMSTED-KIRK PAPER COMPANY	170	\$43.80	\$7,446.00
93	Digital Gloss Text, 14.33 x 20.5	Y		CS	CLAMPITT PAPER CO	84	\$14.50	\$1,218.00
				cs	WESTERN PAPER COMPANY	84	\$41.52	\$3,487.68
94	Vellum Bristol Cover, White, 23 x 35	Y		CS	OLMSTED-KIRK PAPER COMPANY	24	\$70.45	\$1,690.80
				cs	CLAMPITT PAPER CO	24	\$74.00	\$1,776.00
				cs	WESTERN PAPER COMPANY	24	\$93.36	\$2,240.64
95	Futura Gloss Cover, 20.5 x 14.33	Y		CS	WESTERN PAPER COMPANY	25	\$42.25	\$1,056.25
				cs	OLMSTED-KIRK PAPER COMPANY	25	\$46.62	\$1,165.50
				cs	CLAMPITT PAPER CO	25	\$47.20	\$1,180.00
96	Parchment, 25" x 35", text weight, various colors	Y		cs	CLAMPITT PAPER CO	10	\$210.00	\$2,100.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				cs	OLMSTED-KIRK PAPER COMPANY	10	\$234.00	\$2,340.00
97	Nekoosa, 14.33" x 20.5", Dull Text	Y		cs	CLAMPITT PAPER CO	10	\$20.00	\$200.00
				cs	WESTERN PAPER COMPANY	10	\$66.20	\$662.00
98	Mohawk Digital Dimensional Synthetic Premium Parking Passes, 3.375" x 2.125", 8mil	Y		CS	WESTERN PAPER COMPANY	10	\$319.00	\$3,190.00
				cs	CLAMPITT PAPER CO	10	\$328.25	\$3,282.50
	Mohawk Digital Dimensional Synthetic							
99	Premium Door Hangers, 3.375" x 2.125", 8mil	Y		BX	CLAMPITT PAPER CO	10	\$136.45	\$1,364.50
				BX	WESTERN PAPER COMPANY	10	\$319.00	\$3,190.00
100	Bank Tab, set of 5 tabs, 9 x 11, White index 1/5 cut reverse collated, No milar/no hole tabs	Y		CS CS	CLAMPITT PAPER CO	12	\$60.00 \$65.00	\$720.00 \$780.00
				63	WESTERN PAPER COMPANY	12	\$65.00	\$780.00
101	Micro Perferated Paper, 3 2/3 from bottom, 8 1/2 x 11, White	Y		CS	WESTERN PAPER COMPANY	40	\$26.50	\$1,060.00
				cs	CLAMPITT PAPER CO	40	\$28.75	\$1,150.00
				cs	OLMSTED-KIRK PAPER COMPANY	40	\$30.75	\$1,230.00
102	Scoreline Blank, Uncoated, Label, White	Y		РК	WESTERN PAPER COMPANY	100	\$9.00	\$900.00
				РК	OLMSTED-KIRK PAPER COMPANY	100	\$9.90	\$990.00
				РК	CLAMPITT PAPER CO	100	\$90.00	\$9,000.00
103	Door Hangers, 8 ½ x 11, Hots, Astrobrites, or Brite Hue	Y		РК	CLAMPITT PAPER CO	40	\$24.00	\$960.00
				РК	OLMSTED-KIRK PAPER COMPANY	40	\$27.50	\$1,100.00
				РК	WESTERN PAPER COMPANY	40	\$33.50	\$1,340.00
104	Chip Board, 23 x 35	Y		ΒХ	WESTERN PAPER COMPANY	50	\$26.50	\$1,325.00
				вх	CLAMPITT PAPER CO	50	\$27.00	\$1,350.00
				вх	OLMSTED-KIRK PAPER COMPANY	50	\$30.45	\$1,522.50

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
105	Index, Green, 22.5 x 28.5	Y		cs	WESTERN PAPER COMPANY	10	\$93.15	\$931.50
				cs	OLMSTED-KIRK PAPER COMPANY	10	\$107.43	\$1,074.30
				cs	CLAMPITT PAPER CO	10	\$115.00	\$1,150.00
106	Manilla Tag, 22.5 x 28.5	Y		cs	CLAMPITT PAPER CO	10	\$87.70	\$877.00
				cs	WESTERN PAPER COMPANY	10	\$93.50	\$935.00
				cs	OLMSTED-KIRK PAPER COMPANY	10	\$101.65	\$1,016.50
107	Mohawk Carnival Vellum, Ivory, 70lb Text, 23" x 35"	Y		cs	CLAMPITT PAPER CO	20	\$250.80	\$5,016.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$279.60	\$5,592.00
108	Mohawk Carnival Vellum, Ivory, 70lb Text, 25" x 38"	Y		cs	CLAMPITT PAPER CO	20	\$245.50	\$4,910.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$274.12	\$5,482.40
109	Mohawk Carnival Vellum, Ivory, 65lb Cover, 23" x 35"	Y		cs	CLAMPITT PAPER CO	20	\$273.75	\$5,475.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$304.22	\$6,084.40
110	Mohawk Carnival Vellum, Ivory, 65lb Cover, 26" x 40"	Y		cs	CLAMPITT PAPER CO	20	\$235.25	\$4,705.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$262.34	\$5,246.80
111	Mohawk Carnival Vellum, Ivory, 80lb Cover, 23" x 35"	Y		cs	CLAMPITT PAPER CO	20	\$270.00	\$5,400.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$300.28	\$6,005.60
112	Mohawk Carnival Vellum, Ivory, 80lb Cover, 26" x 40"	Y		cs	CLAMPITT PAPER CO	20	\$232.00	\$4,640.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$258.30	\$5,166.00
113	Mohawk Carnival Vellum, Ming Blue, 100lb Cover, 26" x 40"	Y		cs	CLAMPITT PAPER CO	20	\$297.00	\$5,940.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$331.80	\$6,636.00
114	Mohawk Carnival Vellum, New Black, 70lb Text, 25" x 38"	Y		cs	CLAMPITT PAPER CO	20	\$335.00	\$6,700.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$378.70	\$7,574.00
115	Mohawk Carnival Vellum, New Black, 100lb Cover, 26" x 40"	Y		cs	CLAMPITT PAPER CO	20	\$297.00	\$5,940.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$331.80	\$6,636.00
116	Mohawk Carnival Vellum, New Black, 80lb Cover, 26" x 40"	Y		cs	CLAMPITT PAPER CO	20	\$312.00	\$6,240.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$353.92	\$7,078.40
117	Mohawk Carnival Vellum, New Black, 80lb Cover, 23" x 35"	Y		cs	CLAMPITT PAPER CO	20	\$390.00	\$7,800.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$411.43	\$8,228.60
118	Mohawk Carnival Vellum, Persian Blue, 80lb Cover, 26" x 40"	Y		cs	CLAMPITT PAPER CO	20	\$312.00	\$6,240.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$327.74	\$6,554.80
119	Mohawk Carnival Vellum, Red, 70lb Text, 25" x 38"	Y		cs	CLAMPITT PAPER CO	20	\$335.00	\$6,700.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$370.30	\$7,406.00
120	Mohawk Carnival Vellum, Red, 70lb Text, 23" x 35"	Y		cs	CLAMPITT PAPER CO	20	\$342.00	\$6,840.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$377.71	\$7,554.20
121	Mohawk Carnival Vellum, Red, 80lb Cover, 26" x 40"	Y		cs	CLAMPITT PAPER CO	20	\$312.00	\$6,240.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$346.20	\$6,924.00
122	Mohawk Carnival Vellum, Red, 100lb Cover, 26" x 40"	Y		cs	CLAMPITT PAPER CO	20	\$297.00	\$5,940.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$324.60	\$6,492.00
123	Mohawk Carnival Vellum, Tartan Green, 100lb Cover, 26" x 40"	Y		cs	CLAMPITT PAPER CO	20	\$297.00	\$5,940.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$331.80	\$6,636.00
124	Mohawk Carnival Vellum, Yellow, 70lb Text, 25" x 38"	Y		cs	OLMSTED-KIRK PAPER COMPANY	20	\$282.52	\$5,650.40
				cs	CLAMPITT PAPER CO	20	\$335.00	\$6,700.00
125	Mohawk Carnival Vellum, Yellow, 65lb Cover, 23" x 35"	Y		cs	OLMSTED-KIRK PAPER COMPANY	20	\$313.34	\$6,266.80
				cs	CLAMPITT PAPER CO	20	\$375.00	\$7,500.00
126	Mohawk Carnival Vellum, Yellow, 65lb Cover, 26" x 40"	Y		cs	OLMSTED-KIRK PAPER COMPANY	20	\$270.21	\$5,404.20
				cs	CLAMPITT PAPER CO	20	\$317.50	\$6,350.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
127	Mohawk Carnival Vellum, Yellow, 80lb Cover, 26" x 40"	Y		CS	OLMSTED-KIRK PAPER COMPANY	20	\$266.05	\$5,321.00
				cs	CLAMPITT PAPER CO	20	\$312.00	\$6,240.00
128	Mohawk Carnival Vellum, Yellow, 80lb Cover, 23" x 35"	Y		cs	OLMSTED-KIRK PAPER COMPANY	20	\$309.28	\$6,185.60
				cs	CLAMPITT PAPER CO	20	\$363.00	\$7,260.00
129	Mohawk Carnival Vellum, Stellar White, 70lb Text, 25" x 38"	Y		cs	CLAMPITT PAPER CO	20	\$245.50	\$4,910.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$274.12	\$5,482.40
130	Mohawk Carnival Vellum, Stellar White, 80lb Text, 25" x 38"	Y		cs	CLAMPITT PAPER CO	20	\$282.00	\$5,640.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$313.28	\$6,265.60
131	Mohawk Carnival Vellum, Stellar White, 80lb Cover, 8.5" x 11"	Y		cs	CLAMPITT PAPER CO	20	\$110.00	\$2,200.00
	Mahawik Caminal Vallum, Challes White, 2014			cs	OLMSTED-KIRK PAPER COMPANY	20	\$114.04	\$2,280.80
132	Mohawk Carnival Vellum, Stellar White, 80lb Cover, 26" x 40"	Y		cs	CLAMPITT PAPER CO	20	\$232.00	\$4,640.00
	Mohawk Carnival Vellum, White, 70lb Text, 8.5"			cs	OLMSTED-KIRK PAPER COMPANY	20	\$255.23	\$5,104.60
133	x 11"	Y		cs	CLAMPITT PAPER CO	20	\$96.00	\$1,920.00
	Mohawk Carnival Vellum, White, 70lb Text, 23"			CS	OLMSTED-KIRK PAPER COMPANY	20	\$102.80	\$2,056.00
134	x 35"	Y		CS	CLAMPITT PAPER CO	20	\$240.00	\$4,800.00
	Mohawk Carnival Vellum, White, 70lb Text, 25"				OLMSTED-KIRK PAPER COMPANY	20	\$263.20	\$5,264.00
135	x 38"	Y		CS	CLAMPITT PAPER CO	20	\$235.00	\$4,700.00
	Mohawk Carnival Vellum, White, 65lb Cover,	N.			OLMSTED-KIRK PAPER COMPANY	20	\$258.09	\$5,161.80
136	26" x 40"	Y		CS		20	\$190.00	\$3,800.00
127	Mohawk Carnival Vellum, White, 65lb Cover,	Y			OLMSTED-KIRK PAPER COMPANY	20	\$247.52	\$4,950.40 \$5.475.00
137	23" x 35"			CS		20	\$273.75	\$5,475.00
138	Mohawk Carnival Vellum, White, 80lb Cover, 23" x 35"	Y			OLMSTED-KIRK PAPER COMPANY	20 20	\$278.03 \$270.00	\$5,560.60 \$5,400.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$283.31	\$5,666.20
139	Mohawk Carnival Vellum, White, 80lb Cover, 26" x 40"	Y		cs	CLAMPITT PAPER CO	20	\$232.00	\$4,640.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$243.71	\$4,874.20
140	Mohawk Carnival Vellum, White, 80lb Cover, 8.5" x 11"	Y		cs	CLAMPITT PAPER CO	20	\$110.00	\$2,200.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$110.94	\$2,218.80
141	Mohawk Carnival Vellum, White, 100lb Cover, 26" x 40"	Y		cs	CLAMPITT PAPER CO	20	\$217.50	\$4,350.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$228.48	\$4,569.60
142	Mohawk Carnival Vellum, Soft White, 70lb Text, 25" x 38"	Y		cs	CLAMPITT PAPER CO	20	\$245.50	\$4,910.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$274.12	\$5,482.40
143	Mohawk Carnival Vellum, Soft White, 70lb Text, 23" x 35"	Y		CS	CLAMPITT PAPER CO	20	\$252.00	\$5,040.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$279.60	\$5,592.00
144	Mohawk Carnival Vellum, Soft White, 80lb Text, 23" x 35"	Y		cs	CLAMPITT PAPER CO	20	\$240.00	\$4,800.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$266.29	\$5,325.80
145	Mohawk Carnival Vellum, Soft White, 80lb Text, 25" x 38"	Y		cs	CLAMPITT PAPER CO	20	\$282.00	\$5,640.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$313.28	\$6,265.60
146	Mohawk Carnival Vellum, Soft White, 80lb Cover, 26" x 40"	Y		cs	CLAMPITT PAPER CO	20	\$232.00	\$4,640.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$258.30	\$5,166.00
147	Mohawk Carnival Vellum, Soft White, 80lb Cover, 23" x 35"	Y		cs	CLAMPITT PAPER CO	20	\$270.00	\$5,400.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$300.28	\$6,005.60
148	Mohawk Carnival Vellum, Blue, 70lb Text, 25" x 38"	Y		cs	OLMSTED-KIRK PAPER COMPANY	20	\$296.03	\$5,920.60
	Mohawk Carnival Vollum Dive 70th Text 20th			cs	CLAMPITT PAPER CO	20	\$335.00	\$6,700.00
149	Mohawk Carnival Vellum, Blue, 70lb Text, 23" x 35"	Y		cs	OLMSTED-KIRK PAPER COMPANY	20	\$301.96	\$6,039.20
				cs	CLAMPITT PAPER CO	20	\$312.00	\$6,240.00

1 :	Kom Description	Award	Desser	UOM	Sumilia	0.44	Deine	Extended Price
Line#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
150	Mohawk Carnival Vellum, Blue, 65lb Cover, 23" x 35"	Y		cs	OLMSTED-KIRK PAPER COMPANY	20	\$327.89	\$6,557.80
				cs	CLAMPITT PAPER CO	20	\$367.50	\$7,350.00
454	Mohawk Carnival Vellum, Blue, 65lb Cover, 26" x 40"	Y		cs		20	¢000 75	¢E CEE OO
151	X 4U	I		CO	OLMSTED-KIRK PAPER COMPANY	20	\$282.75	\$5,655.00
				cs	CLAMPITT PAPER CO	20	\$317.50	\$6,350.00
	Mohawk Carnival Vellum, Blue, 80lb Cover, 26"							
152	x 40"	Y		CS	OLMSTED-KIRK PAPER COMPANY	20	\$278.40	\$5,568.00
							<b>AA</b> ( <b>A A</b>	
				CS	CLAMPITT PAPER CO	20	\$312.00	\$6,240.00
153	Mohawk Carnival Vellum, Blue, 80lb Cover, 23" x 35"	Y		CS	OLMSTED-KIRK PAPER COMPANY	20	\$323.64	\$6,472.80
				CS	CLAMPITT PAPER CO	20	\$363.00	\$7,260.00
154	Mohawk Carnival Vellum, Deep Blue, 80lb Cover, 23" x 35"	Y		cs	CLAMPITT PAPER CO	20	\$363.00	\$7 260 00
154	Cover, 25 x 35	l l		CO	CLAMPITT PAPER CO	20	\$363.00	\$7,260.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$390.60	\$7,812.00
	Mohawk Carnival Vellum, Deep Blue, 80lb							
155	Cover, 26" x 40"	Y		CS	CLAMPITT PAPER CO	20	\$284.00	\$5,680.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$336.00	\$6,720.00
				03	OLINGTED-RIKK PAPER COMPANY	20	\$330.00	\$0,720.00
156	Mohawk Carnival Vellum, Deep Blue, 100lb Cover, 26" x 40"	Y		CS	CLAMPITT PAPER CO	20	\$292.50	\$5,850.00
				CS	OLMSTED-KIRK PAPER COMPANY	20	\$315.00	\$6,300.00
157	Mohawk Carnival Vellum, Forest Green, 100lb Cover, 26" x 40"	Y		cs	CLAMPITT PAPER CO	20	\$292.50	\$5,850.00
101				00		20	φ <u>2</u> -52.50	\$5,050.00
				cs	OLMSTED-KIRK PAPER COMPANY	20	\$315.00	\$6,300.00
	Mohawk Carnival Vellum, Forest Green, 80lb							
158	Cover, 26" x 40"	Y		CS	CLAMPITT PAPER CO	20	\$312.00	\$6,240.00
				<u></u>	OLMSTED-KIRK PAPER COMPANY	20	\$336.00	\$6,720.00
L				63	ULINGI ED-NIKK PAPER COMPANT	20	<b>ა</b> აად.00	<b>⊅0,7∠0.00</b>